i & -

EHD 2 EE N EREL

{.ﬂ, %»-r-
%5 H . ﬂﬁ’ﬁ,&
b 7 w4
ERL - A9 S ¥-=x 1,000 ~ 1,800 ~
RN R H= 1,100 = 2,000 ~
(6B ~ T v ¥Epa B¢ ¥ 1,200 ~ 2,000 ~
Afed - 2 & €47 ¥-=x 1,500 ~ 2,800 ~
PR g (B EE ) ¥-=x 1,000 ~ 1,800 ~
- UG E AR FR R T pEEY G4
SV E R ARG S YR Y TR - XBUFHR B2
FTEE o
ERR %‘Iﬁq"ﬁl"'%w“"‘iw’}%‘f")@gﬁf’f‘?’fﬁﬁ'}q"‘°l§}i§‘i“'lé%—
IR AR AN A AR ROk RIT R £ TR
R
N = Y | PEA T RTE R 250 v 0 AR 1 pE s 0] ) PERE
_:E_: [e]
5_,‘_45_(”4JE,%%,E;%,;\‘;§4,J‘Eﬁ,&,-z4,1\g¢’a‘o;@q.
PRI 30 Mgt o [ R EARRER Y oD 2 ] B3t

B EREE TR ISR
\E'%i—f%wﬁ,:éﬁgpgé‘,ﬁ%q\o
2R EATE R R
(-)E¥-2 5T L5 3BHFX
.} =8piv = 125
2.7 =2 130432 5304
3. T 61 10 pF
(Z)bp 2 REBEp fis@Hiai* > hop #Hia > SFmH

AR A gt o




